2) In doing a roundhouse kick (where the kicker spins about a vertical axis), explain with

proper physics reasoning how the kicker should move her arm:a@tnd why this W




Big Exam #5 Name Graded on Communication of Physics

1) A 50 kg dancer, standing with her feet together (10 cm apart) and her arms in has a
moment of inertia of about 2.0 kg*m? about the vertical axis, and that when she has her
feet 1.2 meters apart and her arms stretched out has a moment of inertia of 8 kg*m?”. She
is standing on a surface that provides a coefficient of friction of 0.4. She spreads her feet
apart and spins herself as hard as possible (without slipping) with outstretched arms for
0.5 seconds, and then pulls her arms and feet in close and spins with her feet slipping on
the floor.

a) What torque does she apply to her body as she tries to spin herself?

b) What is her maximum angular velocity as she spins, sliding on the floor with her arms

pulled in?
¢) How long does she spin on the floor before coming to a rest? J\f OJF
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